TIRARRER

EEM =
F=E ] B 4 = o RiE
JKE1 JKEH2
SHIBEE| <0001 <0.001
- [MAEE| <0.001| <0.001
HARED L mg/L 0.01mg/L
SHSEE <0.001|  <0.001
SH6ERE | <0001 <0.001
SHSEE <0.1 <0.1
. THAFE <0.1 <0.1
2TV mg/L — BHINGEWNIE
SHSEE <0.1 <0.1
SH6EE <0.1 0.1
SHSEE <0.1 <0.1
SHAEE <0.1 0.1
e A S — BEFh LI E
SHSEE <0.1 <0.1
SH6EE <0.1 0.1
SHISEE | <0.005 0.008
" SF4EE| <0005 <0.005
Eis mg/L 0.01mg/L
SFIGERE | <0005 <0.005
SFI64EE | <0005 <0.005
SHISEE <0.01 <0.01
- FHAEE <0.01 <0.01
A oL mg/L T = 0.05mg/L
SHSEE <0.01 <0.01
SH6EE <0.01 <0.01
SHISEE 0.001 0.001
SHAEE 0.001 0.001
M= me/l — - 0.01me/L
ST5EE | <0.001 0.001
SH6EE 0.001 0.001
SFIBLEE | <0.0005 <0.0005
" SHM4AEE | <0.0005 <0.0005
KR mg/L 0.0005mg/L
SFISLERE | <0.0005 <0.0005
SFI64E | <0.0005 <0.0005
SFIBLEE | <0.0005 <0.0005
SF44EE | <0.0005 <0.0005
FILFILIKER me/l — - BHShANCE
AN
SFISEE | <0.0005| <0.0005
SFI64E | <0.0005 <0.0005
SFISERE | <0.0005| <0.0005
RUEILETT=IL SHAEE | <0.0005| <0.0005
SFISHEE | <0.0005[ <0.0005
SFI64E | <0.0005 <0.0005




TIRARRER

REH S
F=E ] B 4 = o RiE
JKE1 JKEH2
SHSEE 0.17 0.17
. SH4EE 0.18 0.14
AREOL mg/kg-Dry A - _
SHSEE 0.15 0.15
SH6EE 0.13 0.11
SHSEE <15 <15
- SHAEE <15 <15
ERE e mg/kg—Dry T = 15mg/kg-Dry
SHSEE <15 <15
SH6EE <15 <15
SHIEE 5 4
] SHAEE 3 3
i mg/kg—Dry 125mg/kg—Dry
SHSEE 5 4
SHEE 5 4




